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I 1N mwn: sitting in the shade or passing under an MWK
a  Sitting under shade: prohibited, but no nkmv attaches (if under extended shade, not under tree)
i Even (according to 1° version in X1102): if sitting in superextended shade - still prohibited
ii  Even (according to 2" version in X112): if sitting in extended shade — still v
b Passing under: nRmMV attaches — per comp. with nn (v. 1) — 122970 YR NRMY — and there must be some 1"y naypn there
i Exception: if branches encroach on public domain, no nkmv attaches
1  Reason: 1111 didn’t extend their N7t to such a circumstance
2 Question: may he pass there n9nnab or is there simply no nrmv if he did pass there?
(@) Dispute: 10y "1/mpim
(b) However: no dispute — if there’s another way, he should take it; if not, he may go this way
(i) Story: v would have his servant “run him” — even though no other way — as he was 11n ox
I 2n mwn: planting under nYWR
a  Summer: prohibited (gains from shade)
b  Winter: permitted (shade doesn’t help)
i Exception: lettuce, which can’t take the hard rain and the protection of the tree helps growth
ii ~ Dissent: »o1 1 bans planting vegetables in winter as well, as the detritus of tree help (nutrients/compost)
1 Observation: it seems that *0v "1 holds that “shared causality” is 17O, contra 1327
2 However: above, we saw opposite —in re: destruction of 1"y (1321 challenged oy "1 that it becomes Yar - v. 2)
(a) Resolution: in our case, 1"y is being used; there it is being dispersed
(i) Block: that only resolves 'ov "1 vs. »ov "1 — what of 1327?
(ii) Solution 1: reverse positions (in our NWN — entire NWn is *o01 ", dissent is 1317)
(iii) Solution 2: no need to reverse —
1. »p» /7. is resolved as above
2. 227 in this case, there is no real gain in benefit, as gain to ground is lost in shade
(b) Challenge: »ov "1 maintains (in re: n%7y) that shared causality is 91mn
(i) Suggestion: perhaps '0v " is more stringent in re: "y
1. Block: dispute about how to treat cow or field that benefited from 1"y (don’t use as is/may use),
we assume to be 1327/°0v "7 ("ov 7 taking lenient position — 9mn oM N )
2. Save: this dispute is 1227/8™
a.  Which model? If the dispute about yeast of nnyIn and 15, neither amount which had
enough to leaven (but together did) fell into dough — 8™ follows status of last one in, 1217
permit in any case
i.  And:»ar explains that they only disagree if the first one was taken out before 2" fell
ii.  Rejection: perhaps »aR’s explanation isn’t the correct one — it is, as X" states — an is-
sue of “following the last one to fall in”
Rather: 131279/8™ (next n1wn) about status of breads baked with fire of nTwR 'xy
c.  And: 1111 who disagree here must be 1321 about the 1w
i.  But: we see that they are lenient about mixed causality in other o8, we can’t as-
sume it in re: 1"y
3 conclusion: »ov ", in our Mwn is responding to 1327 — he holds 1mn 07 "1 — but they,who say moxr o 11,
should certainly prohibit the detritus of the tree
(a) 37 would answer as we did above — there is a zero sum with the loss of leaves
(b) Snmw: navn follows 01 "1 (AN DI 11)
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III v mwn: status of wood of NIWR
a  Status: branches of NTWR tree are NRIN2 DMOR
i If:he used them to fire up an oven
1  If: it was a new oven (first firing) — must be destroyed
2 If:it was a used oven - must let it cool down before using
(@) If: he used it to bake bread — nxrina Moxy; if it got mixed in with other breads — all nx1na mMoR
(i) ~77:let him take nR1N to nYnn  (i.e. take value of the one prohibited bread and dispose of it)
(ii) oo there is no 19 for "y
3 If: he took a stick from it - X312 MOR
(a) If: he used that stick to weave a garment — nR112 MoY; if that T2 got mixed with others — all nxrina o1or
(i) ~77:let him take nRin to nYnn o (i.e. take value of the one prohibited garment and dispose of it)
(ii) o2pom: there is no 177a for 1y
4 Justification:
(a) If: we only had first case (bread), X"10 in case of loom, where 1"y remains extant, X" agrees with 1121
(b) And if: we only had 2 case — flip the xm>x
5  Ruling: like 8™ —
(a) Suggestion: perhaps we only allow 1"y 1179 for bread — but not a barrel
(i) Rejection: even a barrel — he may “redeem” his 1"y
IV » mwn: 5021 of an MwR (by a non-Jew)
a  If: he took off little twigs, a stick or even a leaf — Y02
b If: he trimmed it for its benefit — still 170x; if for any other reason - 5va
i If: for its benefit, what is the status of the trimmings? Dispute 21 72 X»n/8110 1 (prohibited/permitted)
1 7257 permitted, as per Rn»12
ii  If: 1"y broke apart
1 27 every piece must be “negated”
2 Sxmw no need (after we repair the wording — nn% 1 777 is the only case where we require 51071)
(a) Suggestion: their dispute is whether b5y worship shards
(b) Rejection: all agree that they do worship shards;
(i) But: dispute is whether they worship shards of shards
1. Or: all agree that they don’t worship shards of shards and those are 9nmn
(if) Rather: dispute is in case of jointed 1"y which is disassembled and an amateur could restore
1. 37: since anyone could restore it, it is considered whole and 1yox
2. 5. once it is not NNY*1) 717, no need for Y1072
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